
 

 

  

Assembly Guide 

CWT Lamination Table 

Preassembled Version 

 

CWT 1630 

CWT 1640 

CWT 1647 

CWT 1840 

CWT 1847 

CWT 2140 

CWT 2147 



 

Parts included in Regular series 

     

     

 

 

     

 

  

Roll and holder for 

Glide beam 

Rubber strip Installation kit End plate x2 

Cutting mat 

Legs Table top Glide beam Glass sheet x2 

100x40mm Girder x2 

U-brackets 

Assistance legs Diffuser pack for LED Center profiles 



 

Parts included in Premium upgrade kit 

 

  

  

 

  

LED kit Power cable 

Extra lower roll holder Table top roll holder 



 

Tools needed for assembly 

  

 

 

  

Metric wrenches ς size 8, 13, 17 and 19 

Based on DIN standard 

Metric allen keys ς 4, 5, 6, 8 and 10 

Based on ISO4762/DIN 912 

Spirit-level for leveling the table 



 

Step 1   

 

 

 

  

 

Open from the marked side by removing screws  

Plastic folder including a sticker with 

the serial number, to be placed on the 

leg and bits for opening the packing. 



 

Step 2 

 

  

Mount Roller holder to the Glide beam. 



 

Step 3 

 

 

 

  

When placing the legs on the floor, make sure that the 

smaller holes are pointing towards each other. 

Mount the air regulator and the wire brackets 

(from the Installation kit) to the legs. 

 

Using M6x16, 4 pcs. 

 

Allen key 5 



 

Step 4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

Mount the 100x40 Girder to the legs using M10x30, 4x2 pcs 

Do not tighten to hard. (maximum 20Nm) 

Allen key 8 



 

776 

888 

944 

832 

Step 5 

 

 

 

 

 

  

  

 

 

 

 

  

  

 

 

 

 

 

 

 

  

Mount two of the U-brackets on the table top using M12x30 and nuts, 2x6 

pcs. and the Assistance legs, M10x20 and nut 2x1 pcs. 

Note: The mounting of the U-brackets and 

assistance legs should be done with the table 

top placed in the package. 

Allen keys 8 and 10 

Wrenches 17 and 19 

Note: The hole pattern on the U-bracket 

and the assistance leg correspond. 

 

Final table surface 

height, approx. mm. 



 

Step 6 

 

 

 

  

Assemble the table top by mounting the two U-brackets to the legs using 

M12x30, 2x2 pcs with nuts and place the assistance legs to the Girder.  

Allen key 10 

Wrench 19 


